Bnwjbqnt putinpuqgpph 1-ht dwup nusnidubpny

Fupquuinipnibbpp juunwpl] Gup pnwubpbt jubunpugppbphg:

54. 3anonuure Tabnuuy:

Cnaraemoe 15 17 | 29 18 50
Cnaraemoe 10 | 10 8 |40 | 11 | 27 |40
Cymma 40 | 25 70 30
3anonuure Tabnuuy:
Cnaraemoe | 15 (30 | 17 | 29 [ 30 | 18 |3 |50
Cnaraemoe 10 (10 |8 |18 40 |11 |27 |40
Cymma 25 |40 |25 |47 | 70 | 30| 30 (90
54. Lpugpkp wnnuuwljp.
Qoudwpbth |15 | 30 17 | 28 (30 |18 |3 |50
Qoudwpbih (10 |0 8 |98 40 |11 | 27 40
Gnulwp 25 |40 |25 | 47 | .70 |30.|30 |90
54.Fill the table.
Addition 15 | 30|17 |29 |30 | 19 |3 |50
Addition 10|10 |8 |18 40 |11 |27 |40
Sum 25 |40 |25 |47 | 70 |30 |30 |90




272. 0'p phyu k quidmud gpnwgh Jpgnd (Yud bty phy wknwypkip

onpwjh Ytpenud):

272.What number is at the end of the chain?

272. Kakoe YUCNno CTOMT B KOHUE Lenoykun?

a) | 30 +20 .2 : 20 + 19
6) | s0 + 30 : 3 + 15 9
8) |100 - 90 8 : 20 + 14
o | 8o - 50 : 15 + 19 . 3

+ 20 . . .
30 @ : 20 + 19 24

100 }—22 @ @ : 20 +14 [73
- 50 : 15 +19 - 3

381. ZwpJupluwl spnuyh gpundwi dkp wuwnnuhoh thnjuwpk

nbnunpbp mthpwdtown phip:



381.Insert the required number instead of the asterisk in the calculation chain.

381. BMecTO 3883004€K B 3anvCKH BuIMUCNEHWA LENOYKOoR nocTaeste Heobxo-
© AMMbIE Yucha.

a)

15

437. 0°p phdu t pug poniws:

437 .Which is the missing number?

437. Kaxoe uncao nponyueso?



Sen=a 1275 14:2=7  45:3=15

438. dhpwlwbuqubl] hwydupyuwi onpwib:
438.Restore the calculation chain.

438. BOCCTAaHOBMTE LUENONKY BuiMMCNEHWA:

a) +9 6)
=N

Q Y69 (36) 6?.



631. @npoénnnipjniubpp juunwptp pun qgswywwnlbph:
631.Take action by the diagram.

631. Bunoaunre peficraun no cxeme (pue. 59).

620 | : 31 2

20 +

620 | : | 81 2




769. Hailamre nnowann YeThipBxyronbHMKos, n3o0paxeHHbix Ha pucyHke 72, a,
¥ NNOWAAM TPEYrONbBHUKOB, M300paxeHHbIX Ha pucyHke 72, 0.

a) B 3 em 0 TR M2cu 2cm 4 oM N
| I | )
= | |
:, i 1 ot |
| | ' ”,
A bem D / '
K
6) B D 3cm 1 cMm E p
1cem K
b
L]
- 2 cm
A T

769 .Find the surface areas of the quadrangles shown in Figure 72 a) & 72 b) the

surface areas of the triangles in the picture.

769. Qutp 72-h w) Wjupnd wuunljtipquws pwnwtlniuukph
dwlbpbuttpp b 72-h p) tjupnid yuwnlbpquws towulnibiubph
dwlbkpbuttpp:

a) B 3 cm Qe M2cn 2cm 4 cm N
| 3 | |
2 : ; et
" | ! : 60:
A ' |
A beMm D
K P

0) B

1 cem

4 cm

2¢cm




Sascp=2*3+(5-3)*2:2=6+2=8 uu?
Smkpn=2%3:2+2*3+3*4:2=3+6+6=15 u?
Sasc=4*3:2=6 uu?
Spre=3%4:2+4%4:2=6+8=14 uu?
Stek=(1+2)*2:2=3 uu?:

869. Hahaure nnowans Ourypsl, n3obpaxénHon wa pucywxke 102. Mrowans
OAHOR KneTku 25 mwm’,

Pwc. 102

869 . Find the surface area of the figure on picture 102. The surface area of 1

column is 25 square millimeters.

869. Qubp 102 tjupnid wwwnwlbpws yunljiph dwltpbup: 1
Junulh duytpbup 25 du? E:

S=17*25=425 uu?



880. Haitaure o6ném durypsi, uaobpaxénsoit Ha pucyaxke 104. O6ném
kaxjaoro kybuxa 1 cm’.

a) 0) 8)

880 . Find the value of the figures shown in the picture 104. The value of each

cube is 1cubic centimeters.

880. Qutp 104 tjupnid wwwnwlbipdws dwpdhubph swyuwp:
Snipwpwsjnip unpuwtwpnhlh swduwp 1 uwd® k

w)V=2"2"5=20 ud3

p)V=10"10*10=1000 uu?

J)V=10"10"5+10*10"1=10*10*6=600 uu>:



884. Kakaa wacts duryps saxkpamesna (puc. 109)?
6) I ) @ A a) . e)

a) A ¢C D

ALm

&
&

& O)l

884 .Which part of the picture is colored?

884. Mwwlkpubph np dwub k gnibwdnpdus( aljup 109):

m)% p>§ q)i q>§ ng DE d)ﬁq)—

o6wseM urypsr -Umpuluh Swwp -the value of the figure
nenouka Beraucaennii- huoyupldwh sonpw-calculation chain

wromazas Gurypsr- wuwltph jud dwpduh dwltpbu -the surface area of
the figure



wromazns- Uwljiptu -surface area
JeTHIPeXyToabHUK- puinwiiljjnil - quadrangle
TpeyrosbHUK- hinwtiljnit knwlynii-triangle
cxema-qdwyywnljbp gdwuyyuwnljtp-diagram
craraemoe-gnidwpnkih -addition

cymma-gnidupn —sum:



